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2 2K E— 44 46 90 23.0 67.0 31 NI FRE] 55 48 103 23.0 80.0
2 ‘R #H#N 36 39 75 40 71.0 BG®B) 32 BB Sk 43 49 92 12.0 80.0
3 A & 48 48 96 24.0 72.0 33 INEE SFR 45 48 93 12.0 81.0
4 RHE ELER 44 43 87 15.0 72.0 BG(A-2) 34 TR FH 48 46 94 13.0 81.0
5 A¥ i 43 46 89 16.0 73.0 35 AL —X 48 52 100 19.0 81.0
6 ME  FR8h 48 39 87 14.0 73.0 36 hE R 54 55 109 28.0 81.0
7 KB BE— 46 47 93 20.0 73.0 37 Bt 1& 46 42 88 7.0 81.0
8 sy fEE 38 45 83 9.0 74.0 BG(A-1) 38 A iR 47 49 96 14.0 82.0
9 LRIFF EZ 51 52 103 29.0 74.0 39 (U] E 51 53 104 22.0 82.0
10 BHE %= 45 51 1 96 22.0 74.0 40 HEIR BEE 49 54 103 21.0 82.0
11 R ZED 47 40 87 13.0 74.0 41 gk BE 44 48 92 10.0 82.0
12 HF = 45 46 91 17.0 74.0 42 N 53 51 104 21.0 83.0
13 .7 NI 46 42 88 14.0 74.0 43 BH %o 51 56 107 24.0 83.0
14 =% FF 46 47 93 19.0 74.0 44 Nt &Fa 52 65 117 33.0 84.0
15 X% ER 45 42 87 13.0 74.0 45 NGB R 52 58 110 26.0 84.0
16 EH BT 44 48 92 17.0 75.0 46 ME F—E 56 55 111 27.0 84.0
17 Hith HE 46 52 98 21.0 77.0 47 JE KX 44 50 94 10.0 84.0
18 —E EX 53 48 101 24.0 71.0 48 #L =HE 54 53 107 22.0 85.0
19 N 48 51 199 22.0 77.0 49 INEE EIRF 48 54 102 17.0 85.0
20 aH ERE 47 53 100 23.0 77.0 50 B F 52 46 98 13.0 85.0
21 2K BB 43 45 88 11.0 77.0 51 &H KEB 51 58 109 23.0 86.0
22 R #ot 48 44 92 156.0 77.0 52 AR 18X 60 57 117 31.0 86.0
23 Rl 1EE 39 43 82 50 71.0 53 Bl REK 55 45 100 14.0 86.0
24 a2Y 13- 50 48 98 19.0 79.0 54 & RX 61 48 109 20.0 89.0
25 £X HA| 47 49 96 17.0 79.0
26 HE &5 45 47 92 13.0 79.0
27 HE & 53 57 110 31.0 79.0
28 A e 46 52 98 19.0 79.0
29 Sl 45 40 8 6.0 79.0
30 hif 4TIE 4 44 88 9.0 79.0
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